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No. of Questions/si # e : 100 Lo
No. of Pages for Questions/yef & gt & wwar : 31

Time : 2% Hours ] [ Full Marks : 300

w21 gve ] | [ ol < 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section — A and 70 in Section — B). Attempt as many questions as
you can. Each question carries 3 marks. One mark will be deducted for
each incorrect answer. Zero mark will be awarded for each unattempted

question.

T gE-gRa®T § B 100 (A g ¥ (@ve — o ¥ 30 T @E — § ¥ 70)
a@w@muﬁﬁmﬁmmammmsaﬁﬁwélmm
TR B [T U@ 3 HIET TR TG SR WA BT WIS I B

(2) If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

I} Tt ddfors IR W& SR @ fiee yda & o Pecdd 98 9r

(1) | P.T.O.
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1.

SECTION-A
grs -3
If a student disturbs a teacher while teaching in a class and asks questions
repeatedly, what the teacher shall do ?
(1) Ignore (2) Listen
(3) Ask not to disturb (4) Make a complain to the principal

IfE et ¥ U WHY BIE OIF aR-9R Y YPHY qUM I BT 8 1 IFEATE
@Y FIT HIAT AMRY ? .

(1)@@%?@@@ (2) SHHY GTAl BT GAAT AMLY
(3) I THE T FT F fow FaA AfRY (4) fiRfye ¥ Sua Rrerma s a@1iEy

In setting a paper you will pay more attention on :

(1) Content "~ -~ (2) Distribution of questions
(3) Constructiéfﬁ of questions (4) Duration of the paper

(1) ueg axg W7 () weE @ R W

3) wel & oo w) 4) YR BT A W

Is there a need for a teacher to read regularly before going to a class ?

(1) Not at all because while teaching regularly, everything remain on finger tips
(2) Occasibnally needed

(3) If there is any difficulty /query only then it is required

(4) Itisalways needed

a1 Frell et W UM @ UEd oA &l A w9 W ughr Sed 8 7

(1) Regea 8 S TR gt gY W At arg g o 8

@) PH-F T Bl @

(3) M F1E FIATE/ 9% & T FAEA §

(4) TE AT 9 © :

A teacher is required to be trained so that he/she may teach in a class :

(1) With ease (2) Without disturbance
(3) With Discipline (4) With efficiency
T RATTH F GG BT SR & A T8 T A UG FS
(1) 3T & | @) = fedt anen @ T
(3) ST B TS (4) IO B AT

(2)



13U/94/27 (Set - 1)

5. If some students are not taking interest in your class, then you will :
(1) Change method of teaching '
(2) Punish the students who are not taking interest
(3) Arrange parent-teacher meeting
(4) Don't care about the students
uﬁ@wma%amﬁﬁﬁﬁﬁ@%,mm:
(1) Rreror fafy & gRads a¥
(2) S BTEl @ o By 9E o @ § gug
(3) IAAWTTH-IATIF T &) ayaver BT : ‘ s
(4) BT B P waw TE B

- 6. The most significant role of a teacher in a class is to act as a person who is
intended to : :

(1) Teach content to the students (2) Ensure discipline among students
(3) Train the students (4) Guide the students

U SEATE DY s Aeeaqel qfieT, wem ¥ v W waf &) B € o

(1) & 31 vy aw] R (2) BTl B IJTHRAT BN

(3) Bl @ ufdfer wx " @) ©rEl @ AnTeEE oY

7. The best significant approach of evaluation s :
(1) Annual examination - '
(2) Test '
(3) Continuous and comprehensive evaluation
(4) Essay type examination

RHT BT [ FETIYOl IUNTH & . ,
(1) afie gden () e
(3) WAq Ud &UH HRIH= @) s gder

8. To handle a problem child in a class, a teacher may follow a technique of :
(1) Providing him/her with more and more assignments
(2) Making him/her monitor of the class
(3) Punishing him/her frequently
(4) Trying to find out the reason of such behaviour while wasting own time
%ﬁm&nﬁmmaﬁwﬁ%ﬁmmﬁﬁﬁ@waﬁmﬁw
BT TRRA BN B ~
(1) U 3fes & e am & & g Rar o

) I/ BT BT AR g7 Ry Ry

(3) T W TR B, SN e fhar iR

(4) AT HHE B AR B §Y IHD VW HIER B SROT BT @O S

(3) | P.T.O.
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9.

10.

11.

If after joining as a teacher in a school, a trained teacher luckily obtains a clerical
job in a public sector, he/she may think and ..............c...... ;

(1) Must join as a clerk, quitting teaching profession

(2) Continue as a teacher

(3) Avail leave to join the clerical job

(4) Join clerical job if there is a better prospect and perks/facilities are available

fret Rremerg 3 araus @ WY N ANTE $9E @ are gfe ey uiifea semmue @
TRt A W e @ e fie o) € a9 A RT3 e,

(1) 3ET9s &) e B Bremy [HfE @& gg W ANET BRAT A8y
(2) S srgad H & Y@ @i
(3) SN wed o fafde & 9T W ANEE B S Ay

@) I e & o § ol afe e oEwr SR gfaerd et & ol grrae
P ST AR

'Teaching' is considered as a more suitable profession for ladies than that of
gentlemen begause .......c..c.oeen. .

(1) Itrequires less time and energy
(2) Ladies can handle children better and more psychologically

(3) Teaching is not a paying job for gentlemen in comparison to a job of
physician or an engineer

(4) Only those persons who are having more patience and tolerance power can
do well as a teacher.

'T?Tgm’aﬁgwfaﬁ@wﬁﬂf%amﬁzﬁma@mmmmwmré

(1) o o9 §ag R 5\ B T andl 8§ ,

Q) HRert Fea @ P b oI AR WG ¢ § W qbdl §

(3) Wﬁ%mﬁm,m(ﬁﬁ@m)msﬁﬁﬁmaﬁwﬁmm
TETT

(4)$§mﬁﬁaﬂwéﬁamsﬁvmﬁasﬁ%‘,mzﬁwﬁwﬁ

If in a circular track of race gourse, ‘Alis running in clock wise direction from the
north end then which direction he will face while completing 3/4th part of total
distance ?

(1) West (2) East (3) North’ (4) South

afy el MereR 3 @ fgm H'a'Ied BR @ v & g 31 R Sea @ A
& g o a7 B @ arg SHHT 4 few fewn # g ?

(1) uf¥=H 2) 49 (3) ST (4) <féyor
(4)
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13.

14.

15.

" 16.
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Find out the missing term of the following chain :

AYC, . , IWK, MVO, QUS
(1) EXG (2) EZG (3) DWF (4) EPG
frfafan  sen & qu g @ fofay -

AYC, i, , IWK, MVO, QUS
(1) EXG ) EZG (3) DWF (4) EPG

Find out the fourth term in same relationship;
Policeman : Stick : : Teacher : ?

(1) Pen (2) Chalk - (3) Book (4) Teaching
fGT T aryeEH # WY ug @y ke

gfeRIaTaT © €< ;¢ e ?
(1) Ford 2) afear 3) frame (4) freror

Find out the odd term in the given series ............... .
Radio, Television, Newspaper, Teleprinter

(1) Radio : ' (2) Television

(3) Newspaper (4) Teleprinter

feg g Soft % s o1 fry ue @1 Frfee AR -

(1) M 2) TR

(3) HHTHRGF (4) cefftex

If radius of a clock is of 14 centimeter, then in five hours duration what the
distance is to be travelled by the hand of second of the clock ?

(1) 264 meter (2) 254 meter (3) 256 meter (4) 260 meter

aﬁﬁwﬂa@aﬁﬁwmﬁ%ﬁaﬁsmﬁmmﬁqﬁﬁmﬁﬁr
T R ofy ?

(1) 264 Hrex (2) 254 Hrex (3) 256 Hrex (4) 260 Hrex

In a certain code, SIKKIM is written as THLJJL. How is TRAINING written in
that code ? _ ,

(1) SQBHOHOH (2) UQBHOHOF (3) UQBJOHOH (4) UQBJOHHO
feddl @re # SIKKIM @ THLJJL forar oram &1 90 @t % TRAINING 859 ey
SRATT ?

(1) SQBHOHOH (2) UQBHOHOF (3) UQBJOHOH (4) UQBJOHHO

(5) P.T.O.
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17.

18.

19.

20.

21.

Instruction : ,

If A, B, C, D and E are banks and A, B and C are having its branches at
Ghaziabad and Allahabad, B, C and D are having its branches at Kanpur and
Allahabad, A, E and D are having its branches at Gorakhpur and Varanasi and
C, E and D are having its branches at Kanpur and Varanasi then answer the
following questions.

fAder
aft A, B, C, Dok Ed5 § aiR A, B ol C @ vy mformere 3k geerme J
B, C 3R D & wramd 3R gemEEe § § A, EalR D& ymam TRER 3R

groret # & Ju1 C, E D & s eMyR R IRl # § @ fFrefofaa
wedl @& SR AT |

Which bank is having its branch at Ghaziabad but not at Kanpur ?

1 A (2) B 3) D 4) E
forg S @) wmar MRETETE ¥ } AfdE SR ¥ 98 ?
ma @B @) D ) E

Which Bank is having its branches at Kanpur and Allahabad but not at
Varanasi ?

mB. ,,@C (3) D 4) E

frg 43 2 RIS PIYR AR SOTETETE ¥ ¥ Afe gl ¥ € ¥ ?

(1) B 2) C 3) D (4) E
Which Bank is not having its branch at Allahabad ?

(1) B (2) C 3) D (4) E

fore do o wEn gETEETE A T € 7

(1) B 2) C 3) D (4) E

In which city the Bank C is not having its branch ? .

(1) Allahabad (2) Ghaziabad (3) Kanpur (4) Gorakhpur
forer wrex ® o C & T T 7

(1) FCEES (2) MRTEmETE (3) DML (4) TRER

Gnanam committee is related to :

(1) Continuing education of teachers

(2) National curriculum for Elementary and Secondary Education
(3) Operation Blackboard

(4) Alternative models of management

(6)
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23.

24,

25.

26.
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T AT ArfRrd &
(1) gD B v fer
(2) Frifiie qen wrafie fen & frg g gomme @
(@) 3T <e A Jq

Spread and development of the Hindi language is related to :
(1) Article 351 (2) Article 353 (3) Article 350 (4) Article 345
=Y 1wt &1 favaR e R frwt aede @ Wi & 7

(1) =T 351 (2) TTWT 353 (3) 3rg=eE 350 (4) ST 345

What is TQM ? ‘
(1) Teacher Quality Management (2) Total Quality Management
(3) Total Question Management (4) Teacher Question Management
QY A T R ? o
(1) SFEATH o7 s (2) RO} T[0T gy
(3) XU YT e (4) IJEOUF UIF Yawere

!
KER means :
(1) Kindergarten Education Rules (2) Karnataka Education Rules
(3) Kerala Education Rules (4) Karnataka Editor Rules
KER &7 aref & : '
(1) fo=er T T v (2) PAICH THDBIA Hod
(3) BT THBIH Hed 4) ®CcPH TN wed
Inclusive education means :

(1) Arrangement of Education_ of disabled children
(2) Teaching of disabled children only by disabled teachers

(3) Arrangement of education of disabled children along with normal children.
(4) Arrangement of education of different types of disabled children separately
wHIA e By aref B

(1) fRearT szt & Rer 3 =yawern

(2) fadern ==t &1 Rewr daar Rwsr swamst gr

(3) fawari et B A g2t B T R @ aaven

4) =1 R & famer qeat a0 srorr-arenT R 3 g

Central Advisory Board of Education was established in :

(1) 1918 (2) 1919 (3) 1920 (4) 1921
forr ot # d=lg R womeeR O F oy g o
(1) 1918 (2) 1919 (3) 1920 (4) 1921

(7) | P.T.O.
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27.

28.

29.

30.

NUEPA is a:

(1) Medical College ' (2) Engineering College
(3) Government College (4) University

oA E T

1) AP der 2) genfrafia s
(3) TH Fler (4) faeaferem
National Education Day is celebrated on the birth day of the following:
(1) Maulana Abul Kalam Azad (2) Dr. Zakir Hussain
(3) M. K Gandhi (4) Sardar Patel

Prer & @ fras o R w wsha R e 79w o g ?

(1) RYSTT g T AT @) Sho IR T

(3) THo o TN : (4) WRER 9cd

First school for the education of visually disabled children was established in
which of the following ?

(1) Delhi (2) Ambala (3) Madras (4) Bhopal
gfte < Tt A fen @ g veen femem fre & @ et wenfoa g e ?
1) faeen (2) =T (3) " (4) wgred

National Education commission was established -to act as which of the
following ?

(1) High Level Advisory Body of Prime Minister of India

(2) Wing of University Grants Commission

(3) High Level Advisory Body of President of India

(4) Advisory Body of Ministry of Human Resource and Development
WWWWW%ﬁWWﬁWWﬁ%W&%w@?
(1) YRT & TSN B SRR FAedR A

(2) Rvafiered M AT & IS

(3) YRGB LU B IR FARHR AAf

4) HFT EENE T e Ao @) WoeeR A

(8)



31.

32.

33.

SECTION - B
g —

The function f(x) =(x-1) (x=2) (x-3) is maximum at x =

1 1 1
(1) 2+f ) z-ﬁ 3) 2-7_5

BT f(x)=(x=1) (x=2) (x-3) ey & af x =

1 1 1
1) 24— 2) 2——= 3) 2——
(1) +J§ (2) 7 3) NGl
Ifx=rcos®, y=rsin6, then Z((:" }(;;
1 1
) = 2 - @) r
r r
If¢ x=rcos®, y=rsin6, 7 Z—E:’—'—)(;—;=
1 1
1) — 2 - @) r
r r
— a1 2X dy _
If y=tan 1_xz,then e
1) — 2) 1+x2 3) 1-x2
1+x \
Uﬁ'y=tan"l—?%, @
1-x X
(1) — @) 1+x2 3) 1-x2

1+x2

(9)

(4)

(4)

T @

(4)

(4)

(4)

13U/94/27(Set)

24—
V2

24—
V2

rtan 6

rtan 6

x2+8

P.T.O.
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34. Anasymptote, ingeneral, cuts the curve of degreenin:
(1) npoints i (2) (n-1) points
(3) (n-2) points | . (4) 2n points
TS FTwaEft AT n 910 & °95b P Bl §
(1) n fagal @ 2) (n-1) g w®
@) n-2) fdgai ® - | (4) 2n fIg w
35. The radius of curvature of the curve s = c tan y is eqﬁal to:
(1) ccosec y (2) ¢ tan? W
3) ¢ cot? W 4) c sec? Y

Th s=ctany ® o amar FHogr _R T -

(1) ccosecwy (2) c tan? v
3) ¢ cot? W 4) c sec? W
36. The tangents at the origin to the curve x2 =(y+1) y2 are:
(1) x> =y? @) x?=2y?
3) y?=2x° | 4) x%=3y?

EI";5x2=(y+1)y2 @ ford 7t fag o= W §
1) x2=y2. ) x*=2y°

3) y2=2x2 4) x2=3y2
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37. Ifu=f(y-z, z—x, x-y), then

ou éu
—t—t—=
ox 0Oy 0z
1) 0 (2) 1 (3) xyz (4) 4xyz
e u=f(y-z, z-x, x-y), @
ou ou odu_
ox 0y oz
1) 0 2 1 (3) xyz (4) 4xyz
38. Let Az[(a) g], B=[_b 8] then AB =
L [0 a | o [0 0 i
N | 0
5 [P0 - N
® |y o - @ |, .
a b b 0
717 foram A=[O 0]’, B=[_a o] a9 AB =
» [0 a] ‘ ) [0 0]
1) 0 b (2) 0 o
3 b 0] . [0 b]
‘() 0 o0 4) 0 a

SRy e - prO.
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39.

40.

2

X X 1+x2

If|y }9 1+y2 =0 then xyz =

Z 22 1+z2

(M1 (2) 2 @) -1

(11 (2) 2 | (3) -1

The value of the determinant

a-b b-¢ c-a

b-¢ c¢c-a a-b

c-a a-b b-c
(1) 0 2) 1 (3) abc
GRS &1 AH B ¢

a-b b-c c-a

b-¢ ¢-a a-b

c-a a-b b-c
(1) 0 2) 1 (3) abc

4) 3

(4) 3

@) -1



41.

42,
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2 3
The inverse of a matrix A = ’: 1 J

4
2 1 [7 1]
5 5 5 5
(1) (2)
13 -1 2
5 3 i |
(4 -3 3 1]
5 5 5 5
(3) (4)
-1 2 7 8
i 5 i i
2 3
WA:L 4]37‘[5{1@75{?
2 1 (7 1]
5 5 5 5
(1) ()
13 -1 2
5 5 i ]
(4 -3 3 -1]
5 5 5 5
(3) : (4)
-1 2 7 8
|5 5 L i

. 2 1 -1
The rank of the matrix A, where A = [O 3 - ZJ is:

| 2 4 -3
1) 1 ) 2 3) 3 (4) 4
21 -1
A A, el A=|0 3 -2| H @
2 4 -3
1) 1 2) 2 (3) 3 (4) 4

(13) P.T.O.
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43. Let IR™*™ be the collection of all m x n real matrices. Then IR™*™ is a vector

44,

45.

space over R with dimension :

(1) m+n 2) m G) n . (4) mn
79 farar fF IR™*, m x n IRARS Mgl & T ©, 79 dim R™*" (R) =
(1) m+n (2) m 3) n (4) mn

If W; and W, are finite dimensional subspaces of a vector space V, then

dim (W) + Wy) =

(1) dim W; +dim Wy (2) dim W; —dim Wy

(3) dim W +dim W, —dim (W; A W) () dim (W A Wy)

a oW, ok W, wRw W VB W R oae s @ @
dim(W1 +W2) = o ‘

(1) dim Wy +dim W, | (2) dim Wy —dim W,
3) dim W, +dim Wy —dim (W; A W,) (4) dim (W, nW))

a+ib  c-id

The set R of all 2 x 2 matrices of the form , ,
—c+id a-ib

] where a, b, ¢, d are
real numbers forms

(1) adivision ring but not a field | (2) afield but not a division ring

(3) a field and a division ring both (4) a field

[a+ib c-id] _ . PNV ,
srrms‘r[_cﬂd a_ibjl,a'aa,b,c,qmmwr&%,mwm%.
(1) favrsg gorg afe e =181 (2) & afp fvreg o w81

(3) aﬁaﬁasﬂ“\’ﬁﬂmm .,
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46. 1f Gis a cyclic group of order 30, the total number of subgroups is :

47.

48.

1) 6 ) 7 (3) 8 @) 9
AT G Pfe 30 &1 1@ w1 g B, ) BT SuEHR A R @
(1) 6 2 7 (3) 8 4) 9

Every subgroup of a cyclic group is 3

(1) normal

(2) normal only when order of subgroup is prime

(3) not normal

(4) normal when group is of prime order

TS I W B AP STFE & !
(1) gamT=

@) e A o STHHE B! BIfC g &

(3) ETT |

(4) THTHI T4 8 ©g DI BT 8

The number of disjoint cycles in the permutation

f‘123456789
{2 4617 38509

1S

(1) 2 (2) 4 35 4) 6

123456789

Wf:(z 4617385 9]1#@%21??3@“@6%?#@%:
(1) 2 (2) 4 3) 5 4) 6

(15) P.T.O.
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X

. X
49. Let multiplication in G={[ ], xelR, x;tO} be multiplication of 2 x 2

X X

matrices. The identity element of G is

1 1
2 2 | 1 0
o @ |, 1]
(1 1
11 3 3
© [1 1] @\
3 3

(DN
Il
—f—
| — |
X X
x X

], xem,x;co}fizxzsrl—oz@mw%,?hcmm

T B
11
2 2 10
(1) : (2) [0 1]
>3 |
11
11 3 3
3) [1 1] | (4) .
33

50. IfGisa cyclic group of order 13, then the number of generators of G is :
(1) 2 (2 5 (3) 7 4) 12
A T WE G A P 13 8, G B TR B @A 8

1 2 @) 5 3) 7 @ 12
| (16)



51.

52

53.

54.
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The number of generators in infinite cyclic group is :

M1 2) 2 (3) infinite (4) not definite
AT TG FHE O @1 WA €
1) 1 (2) 2 (3) = @) faf¥ma T8

If H and K are subgroups whose orders are relative prime then O(H n K) is
equal to:

(1) 0 2) 1 (3) O(H) 4) O(K)
a2 H &k K 9t w5 e @ Suag 8, @t O(HNK) =
(1) 0 2) 1 (3) O(H) 4) O(K)

7 x Z under usual operation of addition and multiplication is
(1) afield (2) anintegral domain
(3) not an integral domain (4) aring without unity
(ZxZ,+,.)%: : -

(1) v® & (2) T@ Qi o=

(3) it = =gl 4) far s@E @1 ger

is true when :

If G is a group and N is a subgroup of G then O(%) = (O)ESI))
(1) G - finite and N — normal subgroup of G

(2) G - infinite and N - normal subgroup of G

(3) G - finite and N - subgroup of G

(4) G -infinite and N - subgroup of G

G)_O(G)
aﬁcwwsﬁ?wam%aﬁ O(ﬁ)_~O(N) | B O

1) G-¥fg R N-G T TR SIEE
(2) G- R N -G & JArg SHEE
3) G- iR N-G &1 996E
(4) G-3= 3R N-G & ST
(17) . P.T.O.
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55.

56.

57.

R={0}is:
(1) aring (R, +,.)
(2) nota ring (R, +, )

-(3) agroup for the operation multiplication

(4) not a group for the operation addition
R={0) %:

(1) U& a9 (R, +, )

(2) T8 (R, +,.) &

@) T B =TT TH A

(4) AT B STl U g A

The  shortest distance  between the lines X 2— L = -—;—2 =z 4— 3 ,
x32=y43=254 is -

(1) 0 | () 1 @3 2 (4) 3

N x;l=y;2=z;3, x;2=y;3=z;4 ?ﬁéﬁ?{ﬂ:ﬁﬂﬁiﬁ?

1) 0 2 1 3) 2 (4) 3

The distance between the parallel planes 2x -~ 2y + z + 3 = O and
4x-4y+2z+5=0is:

1) 0 @5 ® 1 @ 1

E}TWW2X—2y+Z+3=O3ﬁ?4x—4y+2z+5=0?ﬁéﬁﬂfﬁiﬁ?:

mo @ 5 ®: @i

(18)



58.

59.

60.

. (4) ax +by -2ax - 2by 2z = 0

13U/94/27(Set-1)

The radius of the circle x + 2y + 2z = 15, 7;2 +y-2 +2z2 -2y-4z=111is:
1) 5 @ 7 . 3 V11 @) 17
gd x + 2y +2z =15, x2+y2+22—2y—4z=11 EﬁTGXﬁW?

M. Q) V7 - (3) V11 @) V17

The plane 2x - 2y + z + 12 = 0 touches the sphere x2 + y2 +22-2x-4y+2z=3
at the point :

1) 1,4,3) 2 (1,-4,5) @B 1,4-2) @ (1,48

e 2x - 2y + z + 12.= 0 e x2+y2‘+z‘2—2x—4y+22=3 B Rg
el e § .

1) (1,43) | (2) 5) (3) (—1 4, —2) @ 04 8)

The equation of the e generators pass through the pomt (a, [3, y) and
have their directio’ sfying the relation al? + bm? + ch? =0 is:
(1) a(x—oc)2+‘ ,—7)2 =0

(2) ax2+by2+czz—2ocx—2[3y—2yz=0'
3) ocx2+[3y2+yzz—2abx=0
(4) ax +by —2ax-2by-2cz=0

Wﬁqﬁﬁﬂ%ﬂﬁﬁm%@r&ﬁﬁmﬁﬂﬁmmﬁﬁaﬁ?m
al2 +bm2 +cn? =0 ﬁvqeaﬂ'cﬁ%%

(1) a(x-0)? +b(y—-p2+cz-1)*=0 S
(2) ax? + by2 +cz? -20x - 2By -2yz=0

3) o x> +By2v +yz2 -2abx =0
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61.

62.

63.

The length of the per

x—-5=y+2=z—6 is -

pendicular from the point (4, =5, 3) to the line

-4 5
5 NG J457 17
(1) \g (2) > (3) 5 4) =

AR A A L

-4 5
5 V31 V457 17
1 = 2) — 3) —— 4) —
M \[, @ = @) @ 3
1
Thelmes 4—y—+§——%+—1=y, A Z+1O=y intersect, then :
-4 7 2 -3 8 1

B) y=1, vy, =3

: E.x4 y+3 z+1
1 4 7

(1) y=1 v =2

B v=117y, =3

Every line meets a central conicoid ax? + by2 +cz?

(1) one point

(4) V=4, yl =2

- 1 !
=y, XL Y2010 e el 2

2 -3 8
(2) v=3, vy, =4
4) y=4y, =2
=1in:

(2) two points

(3) 4 points (4) 6 points

TP X BT wiFHa ax* +by? +cz2 =1 @ Prerdy & -
(1) v fag w (2) =¥ fargalt w
(3) 4fd=gait wx (4) 6 fagai wv

(20)
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64. The surface represented by the equation ax? + by2 +cz? =1, where a, b, c are

65.

66.

67.

all positive is :
(1) Cone (2) Cylinder
(3) Ellipsoid (4) Sphere

@R ax? +by? +cz2 =1, TEl a, b, ¢ W TS €, GRT GLRAT T ¥ -

(1) ¥ (2) 9@

(3) drdgera (4) e

‘Kronecker deltas are components of a mixed tensor of order :

(11 (2) 2 3) 3 (4) 4

FrAR Seeret ¥ T @ saug € fraer Hife

1 | (2) 2 3) 3 (4) 4
221 1, where z = x + iy, represents :
z+1| - y.Tep '

(1) acircle B (2) an ellipse

(3) astraight line (4) a parabola
2=\ 1, &8t 2 = x + iy wefifa war @
z+1

(1) T 949 (2) T g

(3) e A @ _ S (4) UP IRy
z _E =k , where a, p are complex constants, represents a straight line, ifk=
Z -—

(1) 1 @2 NG (4) 7
Z_E —k, e o, p we Rerid & v ¥ welfa owar € O k=
Z —

(11 . (2) 2 (3) 5 4) 7
| (21) | P.T.O.
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68. For a complex number z; the minimum valueof | z | + | z-2 | is
(1) 1 (2) 2 (3) 3 (4) 4
[z | +12-2| &1 T 99, Wet 2z P wied dwm L 2
1) 1 (@) 2 (3) 3 (4) 4

69. If 2z, and 2z, are two non-zero complex numbers such that
lZl +z, |=|21 ;Zz ', then'»f.}amp Z1—amp z, |=

@ @ 7 @ 2 @ 7

U& Zy Gﬁ? Zy m E’TGTSF\‘J fﬁ@'ﬁ F@Tﬁ % ﬁ; lZl+Z2l=l21—Zzl, Fﬁ

|amp z; —amp z; | =

GRS @ < @ 3 @ 7

70. A unit vector coplanar with ]+ j+2k and 1+ 2j+k and perpendicular to
i+j+kis:

1. . 1 - - 1 + - 1+ -
(1) _J_f(_]+k) (2) ﬁ(k—l) 3) ﬁ(l—k) 4) ﬁ(ﬁk)

T TR WRE {4742k SR 14274k B W wwadm 2 ek i+j+k @
a8, 8

1 - had 1 nd i 1 i ad 1 = "y
(1).3(,-”1()‘ ) E'(k—l) | 3) 7—2—(1—k) (4)vﬁ(l+k)

71 ix(@xi)+jx(@axj)+Kkx(axKk) is equal to :

(1) 23 (2) 3a 3) 0 (4)

ol

ix(@x1)+jx(@x])+kx(axk) wm@w 2

i

(1) 25 2) 33 3 0 (4)
| (22) B

Cam



72.

73.

74.

75.

13U/94/27(Set-)
The area of the triangle whose two sides are determined by the vectors
a=3{+4] and b=-51+7]7 is:
(1) -222 units @) %units 3) -221 units (@) 5‘21 units

Pt 1 e Rore) Q1 qed Wit a=31+4j R b=-5{+7] § T
SICIE
29 7 21 41 .
W 2w @ 5w O OIS
The necessary and sufficient condition for a(t) to have constant direction is :
da da da da

(1) ax—-=0 @ a.5-=0 ® =0 @) a+-=0

ma(t)aﬁﬁmﬁmwﬁﬁmmaﬁ?muﬁaﬂ%:

da da da

1) ax—=0 2 O — =0 4) a+—=0
(1) ax—o (2) a ® 3 @) a+—
ax(bxc)+bx(@xa)+cx(@xb) isequal to:

(1) 0 (2) ax(b+¢) (3) 2a (4)2a+b+¢
ax(bx¢)+bx(Exd)+cx(Axb) WR ¥ :

10 (2) ax(b+¢c) 3) 23 (4)2a+b+¢

: d2 d 2
The degree and order of the differential equation’ SV i+ (::11) =0 are:

dx? X
(1) 2and 2 (2) 2and 1 (3) 2and 4 (4) 2and 3
2
WW‘W@T +1+(3x) =0 & 9| iR P &
X
(1) 2 3R 2 (2)2aﬁ'\11_ (3) 2 3R 4 4) 2 3R 3

(23) , P.T.O.
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76.  Anintegrating factor of the differential equation j—y —Ey +2=0is:

x2 1 1 1
(1) e ) P 3 = (4) <
Wwv%—§y+2=0 BT HHIBT TOTH ¢

2 1 1 1
(1) e | (2) ol 3) 7 (4) "

77. The orthogonal trajectories of the rectangular hyperbola xy = k2 are:
(1) yx-y)=c (2) x*+y?=c?

B) x?-y?=c2 4) x(x+y)=c

AGATPR FfARIETT xy = k? THHNT FprHR ver ¥

(1) ylx-y)=c (2) x2+y2=c2“
3) x?-y? =2 4) x(x+y)=c

78.  The solution of the differential equation % - j—z -4y =0 is:
(1) y=cie¥+cre? (2) y=cie™*+ cée4x
3) y=ce* +cyedX 4) y=ce™ 4 c et

' d’y ,dy |

qbe FHIBROT &7_3d_x_4y=0 B EA B
(1) y=ce* +c e (2) y=cie™ +cye®X
3) y=cie®* +cie (4) y=cie™ 4 e

(24)



79.

80.

8t.

13U/94/27(Set-1)

2

The solution of the differential equation 4y +5Y yoy=e2¥is:

1) y=cqe” +cpe » | ) ) y=ce™” +cpe

@) y= cre? + c2e4x 4) y= cle X+ cpe
d’y . dy 2

amamvﬁrav‘m +5d +6y e FEAE

1)y - cie” +cpet” ) y=cie '+ c e

@) y= ce®X +c e @) y= cre X+ cet*

The surface represented by the equation 2(x2 +y2+ zz)+ x+3y+4=0is:
: P y q y y

(1) Cone : (2) Cylinder

(3) Sphere | (4) Ellipsoid

TR 2(x2 +y2 +22)+x+3y+4=0 FRI YR 7O & :
(1) T (2) 9

(3) wen | (4) drefga

Which of the following statements about ogives is correct ?

(1) The rectangles are proportional in height to the number of items falling in
the class

(2) There are generally six rectangles in every ogive

(3) Both (1) and (2)

(4) None of the above
o frst @ e & PrefiRed § @ B B we ¥ 7
1) ad A A HEY @ weEn § Sarg ¥ anqufad 6o €
(2) T AR ¥ HEROEAT B Id B §
(3) =M (1) @ (2)
(4) Sugt A | B1g TE
(25) | P.T.O.
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82.

83.

84.

An aeroplane covers the four sides of a square at speeds of 1000, 2000, 3000 and
4000 km/hr, respectively. The average speed of the plane in its flight around
the square will be : -

(1) 2500 km/hr (2) 1920 km/hr
(3) 1290 km/hr ‘ " (4) 2000 km/hr

% g el @t A ant Remst # w1000, 2000, 3000 TE 4000 faY / Ho
aﬁwéwaﬂm%la@mmwaﬂaﬁwzﬁmeﬁvﬁﬂ%ﬁ?ﬁ:

(1) 2500 far /%o ' (2) 1920 & /Ho

(3) 1290 f&# /®o (4) 2000 &+ /5o

If two variables X and Y represent height (in centimeters) and weight (in
grams) respectively, then what is the unit of correlation between X and Y?

(1) Gram (2) Centimeters

(3) Gram/Centimeter (4) None of these

a’ra?xwYm:vfrzr@(ﬁﬁ)amm(mﬁ)wﬁhwﬁ%;a‘rxzryzﬁ
A AE—HHY & gHrE anfY : :

1) @)
(3 /¥ (@ T d B

The regression equation of profits l(X) on sales (Y) of a certain firm
is 3Y — 5X + 108 = 0. If variance of profits =% x variance of sales, then

coefficient of correlation between sales and profits is :
(1) 0.8 (2) 0.6 3) 1 (4) 04

WW*?W(X)WW(Y)WWWWWBY—SX+1OS=O%I
uﬁ:wmm=%xﬁaﬁmmaﬁﬁﬂ%mfmw‘w—m
(1) 08 2 06 3) 1 | (4) 0.4

(26)



85.

86.

87.
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The number of possible samples of size n out of N population units without
replacement is :

N .
(1) ( j 2) N? @ oM 4) N
n - -

Nm&smﬁﬁmwﬁanmﬁmﬂﬁwﬁamﬁaﬁ

el
o

N
(1) [ ] . @ N° - @) nN . (4 N!
n

Which one of the following procedures is not based on the principle of
probability ? ' '

(1) Simple random sampling (2) ' Stratified sémpli-ng

(3) Systematic sampling (4) Quota sampling

s 4 % - Ry s @ R e R T E 7

(1) ¥ Agoe® i (2) e wfrer
(3) HHEg wfrerdd @) Fraqamers gfaad
If there is a linear trend in the population, then out of the following sampling

methods the one which gives the most efficient estimator of the population
mean is :

(1). simple random sampling ' (2) cluster sampling
(3) stratified random sampling (4) systematic sampling

uﬁwﬁeﬁ%ﬁ%maaﬁmwmmﬁﬁfﬁwmm
foror a8 ¢ , "

(1) ¥xa Agfesd gfaad - (2) TEe ufaaad
(3) wRa agfes ufaas (4) wHEg vfraad |
(27) .~ PTO S
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88. The basic principles of experimental design are :

89.

90.

(1) Randomization and replication
(2) Randomization and local control
(3) Replication and local control

(4) Randomization, replication and local control

I et @ Rygr ey &

(1) AGFEPIEHRT qorr geRrgfer

(2) agfo®IHIOT dorr veirg fyg=yoy

(3) grRIgRy derm ey g

(4) FGFEdTR, TRIGR van e frawor

Local control is completely absent in :
(1) Completely randomized design (2) Randomized block design
(3) Latin square design (4) None of the above

RN frg=rer gofa: amaRert g §
(1) gofer: agfeediea sifemear o (2) TgFBHPT Wved sfamor §

(3) <feq o+ siftreamr & (4) T & P G
In cyclic fluctuations, the period of oscillation is :

(1) less than a year (2) ayear

(3) more than a year (4) None of these
=B faERor # Qe B B

(1) v& 911 ¥ &H (2) T® At

(3) UH AT W ST - (4) 3T | PIg 7

(28)



91.

92.
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The method of finding secular trend is :

(1) Link relative method | (2) Moving average method
(3) Corfelogram method (4) Variate difference method
S SuAly S B B fafr 2

(1) st st R (@) T e R

(3) We—wrg FRrfafe (4) faoxiaz fafe

Let X has N(u, c?‘) and Z has N(0, 1).Itis given that:
P(X < 89) = 0.841

P(X < 94) =0.977

P(0<Z<1)=0.341

P(0<Z<?2)=0477

then its mean and variance are :
(1) (84, 25) (2) (84, 5)

(3) (89, 25) (4) None of these

R X 37 979 N(u, o2) e Z & ge4 N(O, 1) & 3R
P(X < 89) = 0.841 |

P(X < 94) = 0.977

P(0<Z <1)=0341

P(0 < Z < 2) = 0.477

Y gHET AT g FERYT B

(1) (84, 25) | “(2) (84, 5)

(3) (89, 25) (4) 3% Q@ I3 7l
(29) P.T.O.
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- 93.  The probability that a leap year selected at random will contain 53 sundays, is:

1 : 2
(1) = N (2) = (3) v (4) %
mmﬁgﬁ@wm#&vﬁaﬁ%maﬁuﬁw%
. ;
(1) ; () 7 (3) % (4) e

94. Index numbers a;re reversible if based on:
(1) Arithmetic mean '
(2) Harmonic mean
(3) Geometric mean
(4) Both Geometric mean and Arithmetic mean
WE@is aRad-g & I amnRe o
(1) 99R ey ©w®
(2) ES ARY W
(3) TR WA W

(4) T TUIRR T T AR ARG W)

95. Fisher's 'ideal' index number is :

(1) Arithmetic mean of Laspeyi*e’s and Paasche's indiceé _
(2) Arithmetic mean of Walsh and Drobish-Bowley indices
3) Geometrlc mean of Wash and DI‘OblSh -Bowley indices
4) Geometrlc mean of Laspeyre's and Paasche's indices
(1) Sl ol I D EHiET BT wER A
(2) T IR FIR-S B GEEie! B TR TR

- (3) W@?W—mﬁmwmm
(4) B‘mﬁm*\' 3R tws‘r Ed ﬁﬂ’cﬁmﬁ T [UNER Ay

(30)
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96. If the Net reproduction rate is equal to ‘one’ then population may be said to

97.

98.

have a tendency :
(1) To decrease in size (2) To increase in size

(3) To remain constant in size (4) None of the above

ﬁ@wﬁmm’w'ﬁmmﬁﬂw%%mﬁmﬁ

VWI"?’V
(1) ©ed @ 8rfl (2) dg @ BRMY
(3) Rer &1l 4) Swiw # | Fg T

In a class 50% students belong to rural area and 70% students live in hostel.
The minimum percentage of rural students living in the hostel is :

(1) 25 (2) 20 (3) 35 4) 60

ﬁmﬂzﬁmﬁSO%Wuwﬁwﬁaﬁ?m%mamﬁﬁﬁ%lmﬁﬁﬁ
arer AT BTET BT ~AaE wferd €

(1) 25 (2) 20 (3) 35 (4) 60

In case of two attributes A and B if (A) = 20, (B) = 30, N = 100, then to have
positive association between A and B the frequency of the class AB will be :

(1) (AB)=6 (2) 0<(AB)<6

(3) (AB)> 6 (4) (AB)=0

aﬁgoﬁAaﬁvB%ﬁwﬁu&(A)=20,(B)=3Q,N=1ooa‘r,aﬁAsﬂvBﬁ
WwﬁfﬁmﬂﬁABﬁm_ﬁi ' .

(1) (AB)=6 (2) 0<(AB)<6
(3) (AB)>6 (4) (AB)=0

(31) _ P.T.O.
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99, A random variable X has the probability mass function :

X o’ | 0 1 2 3

p(x) 0.1 k 02 2k 03 k

The value of k is :

7 3 8 1
W = @ o5 ®) @
U A58 TR X BT MRS gomE waT §

X | 0 1 2 3

px) 01 k 02 2k 03 k

k &1 719 B8O

7 3 8 : 1
(1) 0 (2) 0 (3) 0 4) 0

100. The probability of rejecting null hypothesis Hy when null hypothesis
Hy is true, is (where symbols have their usual meanings.) :

1) « @ (- @3) B (4) (1-B)

T RGN & T B W I gReed Hy & 3RdieR 3% 3w
BT & (STl ot 1w aref 2 )) -

1) o 2 (1-a) @3) B 4) (1-)

(32)
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. Iudam ufafedi § @1 f oRads e Blee g walg gmr aifed s e ue

ST AR w1 AT /AT SIRATT |
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afe ré anaedl aen d agfa aweEl 1 gAr R g, o 98 [Auadenerd gy i
s @1 /@ v gnT /'



